CHAPTER 2

Competitiveness, Strategy, and productivity

Teaching Notes

The topics covered in this chapter can be used to help get your course in OM off to an interesting start. Most of your students have grown up using products produced by foreign firms on an everyday basis and they have developed a great deal of respect for the quality of their products. Students are probably as familiar with names like Honda, Toyota, Sony, Nestle & BIC as they are with U.S. companies such as Ford, GM, GE, IBM, Texaco, Hershey, & Parker.

The students will relate to the fact that companies must be productive in order to be competitive and that to be competitive they must have a mission and some well-thought-out approach or plan or strategy on how to achieve this position. In other words, students will be able to understand why it is important to learn what productivity really is, how we measure it, what factors affect it, & how firms can improve their productiveness. Students will become aware that business firms compete with each other in a variety of ways and will study the key competitive factors which are of primary concern in today's global business environment. Finally, the students’ focus in on operations strategy with special attention being given to some of the newer strategies based on quality and time.

Answers to Discussion and Review Questions

1.
They would be helpful in the sense that they would give U.S. manufacturers time to step up the in productivity which would make them better able to compete in domestic and world markets. The higher profits possible from reduced competition or higher prices on products also let inefficient U.S. industries to survive longer, preserving jobs and votes for politicians. Possible pitfalls include higher prices and less choice which U.S. consumers would have to endure and the possibility that U.S. companies would not use this as an opportunity to improve, but merely a crutch. From the Canadian standpoint, we would be penalized for doing a good job.

2.
Business organizations compete in a variety of ways. Key among them are price, quality, product differentiation, flexibility, and delivery time.

3.
Characteristics such as price, quality, time, delivery speed, delivery reliability can all be order qualifiers or order winners. Order qualifiers are the minimum level of characteristics required to be considered as a qualified supplier. Order winners are additional ‘good to have’ characteristics which are used to choose a supplier.

4.
Answers vary. Here is an example of how Wal-Mart competes:

One store that many of us shop at is Wal-Mart. In the last decade, Wal-Mart has been steadily growing and gaining market share. There are numerous reasons why Wal-Mart has been successful in a very competitive market. Wal-Mart's ability to provide a variety of goods with reasonable prices gives the company a competitive edge. Another reason involves the firm's ability to integrate various aspects of its operations with the suppliers. In other words, successful supply chain management provided Wal-Mart with another competitive advantage. 

5.
Distinctive competencies are those special attributes or abilities possessed by an organization that give it a competitive edge. The most effective firms seem to form strategies that develop distinctive competencies based on customer needs as well as on what the competition is doing. Marketing and operations should work closely to match customer needs with operation capabilities. See answer to Question 4 for distinctive competence of Wal-Mart.

6.
Strategy is the long-term basic approach used by an organization to achieve its goal whereas tactics are medium-term methods and actions taken to accomplish strategies and carry out operations.

7.
Operations strategy is the approach consistent with the organization strategy, that is used to carry out operations. It includes many long-term decisions and actions in the areas such as process design, capacity planning, technology, etc. that are used in the book.

8.
Time-based strategies are approaches that focus on reducing the time needed to conduct the various activities in product design and production. The rationale is that by reducing time, costs are generally less, productivity is higher, quality tends to be higher, product innovations appear on the market earlier, and customer service is improved. Examples include rapid prototyping, just-in-time (lean) production, and agile manufacturing.

9.
Productivity is a measure of output relative to input; the higher the output relative to input, the higher the productivity. Productivity is important because it reflects the effectiveness of uses of resources. In most organizations, the operations manager is primarily responsible for productivity.

10.
Factors affecting productivity—methods, capital, quality, technology, and management.

Ways productivity can be improved(measure productivity in all operations, eliminate bottlenecks, study work methods, establish reasonable goals for improvement, reward improvements, and use technology and capital.

11.
The Japanese worker is probably working smarter if not harder than North American workers. By working smarter we mean the Japanese are using more productive work methods than North American workers. One way the Japanese accomplish this is to use time-based strategies which focus on reducing the time needed to accomplish various tasks. Some of the areas in which their organizations benefit from time reduction are planning time, design time, processing time, changeover time, and delivery time.

Memo Writing Exercise

Emphasis must be placed on calming fears of employees concerning layoffs first. Remember that individuals are concerned about themselves so explain the company's strategy on avoiding layoffs because of productivity gains. Be honest and do everything you can do to build trust. Don't promise things you can't deliver. Remember, there are many ways to improve productivity and many are more subtle than others. Also remember you are in it for the long haul, which means continuous improvement on a daily basis and which means attrition may solve many of your layoff problems from an individual perspective. Emphasize how being more productive will make the company more competitive. Think about a plan to share the department’s gains with their employees and make the rewards as immediate as possible.

Solutions

	1.
	300 SBC
	= 37.5 SBC/Worker last week

	
	8Workers
	


	
	240 SBC
	= 40 SBC/Worker this week

	
	6Workers
	


Higher productivity during this week.

Solutions (continued)

	2.
	   Week
	Crew Size
	Square Metres Installed
	Labour Productivity

	1
	4
	960
	240 
	m2

	2
	3
	702
	234

	3
	4
	968
	242

	4
	2
	500
	250

	5
	3
	696
	232

	6
	2
	500
	250


Possibly even-sized crews are better than odd sizes and a crew of 2 seems to work best.

 3.

	
	(1)
	(2)
	(3)
	(4)
	(5)
	(6)
	(7)
	(8)
	(9)
	(10)

	
	
	Units
	$
	kg
	Cost
	
	Cost
	Cost
	Total
	MFP

	
	Week
	Output
	Sales
	Material
	Material
	Workers
	Labour
	Overhead
	Cost
	(3) ( (9)

	
	1
	300
	$42,000
	45
	$270
	6
	$2,880
	$4,320
	$7,470
	5.62

	
	2
	338
	47,320
	46
	276
	7
	$3,360
	$5,040
	8,676
	5.45

	
	3
	322
	45,080
	46
	276
	7
	$3,360
	$5,040
	8,676
	5.20

	
	4
	354
	49,560
	48
	288
	8
	$3,840
	$5,760
	9,888
	5.01


Multifactor productivity is dropping steadily from a high of 5.62 to 5.01 $ output per $ input.

4.

a.
Before: 80 ÷ 5 = 16 carts per worker per hour.



After: 84 ÷ 4 = 21 carts per worker per hour.

b.
Before: Costs $10 x 5 = $50 + $40 = $90; hence MFP = 80 ÷ $90 = .89 carts/$1 Cost


After: $10 x 4 = $40 + $50 = $90; hence 84 ÷ $90 = .93 carts/$1 Cost

c.
Labour productivity increased by 5/16 = 31% 


Multifactor productivity increased by .04/.89 = 4.5% 


Multifactor is more appropriate because of change in machine and its cost.

5. 

Without scrap the output can be 80 units per hour 
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The increase in productivity would be 80 -72 = 8 units per hour.

This would amount to an increase of (8 / 72) = 11%.

6.  
Current week’s productivity = 
[image: image2.wmf]
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Previous week’s productivity =  
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Thus, there was an increase of 4.3% in productivity. 

Solutions (continued)

7.
Before
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Growth in labour productivity = 
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8.
a.
Labour productivity

Before = 
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= 2 titles per worker per day.

After = 
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= 3.67 titles per worker per day.

Growth = 
[image: image11.wmf]3672

2

.

-

= .835 or 83.5%.

b.
Multifactor productivity

Before = 
[image: image12.wmf]6

$480$300

+

= .0077 titles per $ cost.

After = 
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= .0102 titles per $ cost.

Growth = 
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= .323 or 32.3%.

c.
Multifactor is more appropriate because the overhead costs have changed.

Reading: Productivity Gains At Whirlpool

This reading describes how the Benton Harbor plant increased its productivity in the late 80’s.

Answers to Questions:

1.
Whirlpool achieved increased productivity by changing production processes, teaching its workers to improve quality, and instituting gain-sharing. 

2.
Workers, the company, and customers have all benefited from Whirlpool's gains. Workers benefited financially as productivity increased. The company is more competitive and customers get a better price and quality.

3.
As quality improves there are fewer defective parts that have to be scrapped and reworked.  There are needs for fewer items in inventory because there is less safety stock needed to replace defective parts.  As a result, productivity improves.

4.
Improvement in quality increases productivity which will result in larger profits.

Case: Zellers

1. Answers to Questions:
2. ●
Strategy – Bay’s customers (moms) would have incentive to shop in Zellers if they get rewards. Stable low prices should make shopping easier for moms (no need to look in flyers for promotions) and make Zellers a shopping destination every day.

· Product design – Martha Stewart brand is popular with moms. Moms will have more products (appliances, food, etc) to choose from.  

· Capacity – larger stores make one-stop shopping possible.

· Layout – wider aisles, better signage, etc, makes moving in store easier for moms with kids.

· Location – purchase of 100 Kmart stores allowed Zellers to increase the number of its stores and get into new markets.  The shorter travel by moms should make it easier for moms to shop in a Zellers store.
· Inventory control – inventory cleanup provides space for new products for moms. Better computer system will improve operations and will result in better in-stock availability.

· Purchasing – combined Bay and Zellers buying results in better prices from suppliers which can be passed on to moms.

2.
Yes and no.  


Yes – by targeting moms, Zellers chose to focus on a large segment of its customers and provide a theme for its product assortments. This way it will not have to directly compete with Wal-Mart.


No – a discount chain of stores should have focused on improving efficiency and reducing costs so it could compete directly with Wal-Mart in price.


Recently, Zellers has included “Lowest price” as part of its mission, and is also improving its customer service by employing more floor assistants.  This is the way to compete with Wal-Mart.

Case: Ace Bakery

Answers to Questions:

1. Quality: tastes good, no preservatives, exotic flavours, moist interior, crispy crust.

2.
To develop and make the very best quality bread using the finest ingredients.   Our recipes and baking methods follow time-honoured European traditions and techniques. We believe that working the bread by hand and giving it lots of time to rise slowly, makes better bread.  There are no preservatives in any of our bread.

Case: Competing the Loblaw Way

Answers to Questions:

1.
Price-competitive products, reliably available, and reasonable-quality products.

2. ●
Owns their stores’ buildings

· Buys in large volumes, low cost, and checks profitability of products

· Tries to control its labour costs

· Uses everyday low pricing (no promotions)  

· Uses private label brands like President’s Choice and No Name

· Matches the size and products offered in each store to the market

3.
Yes, when profit margin is 2.5%, there is little room for labour wage increases (unless product prices go up).  In addition, Loblaw’s competitive advantage is low-product cost, so labour and overhead costs have to be kept to a minimum.

Case: Westjet’s Strategy

Answers to Questions:

1.
Savings on pilot and mechanic training and operating costs.

2.
Work for less but hard, resulting in good customer service.

3.
Faster turnaround, because no time is wasted loading and unloading foot carts.

4.
Lower landing fees, less airplane traffic resulting in takeoff and landing delays.

5.
Market is segmented by business and leisure travellers. Westjet targets leisure travellers.  Yes, most cost-conscious travellers are leisure travellers.

Case: Lynn Revisited

Answers to Questions:

1.
Her customers are her neighbours and friends. She has had personal relationships with many of her customers for years and they are going to want to help her as long as she does a good job.

2.
a.
By increasing her productivity, Lynn can mow more lawns over a given length of time such as day, week and/or month and increase her total revenue. Hence, if she maintains her present cost structure per lawn she will increase profits.

b.
By improving her mowing technique;


By investing in more productive equipment;


By experimenting with different crew sizes to find the most productive combination or division of labour.

3.
She should consider time savings, and cost of equipment.

4.
The advantages would be greater market area, higher sales opportunity, economies of scale, and higher utilization of the equipment.  The disadvantages of expanding include additional transportation time and cost and increased wear and tear on the equipment.

5.
a.
Many successful small businesses are successful without mission statements and objectives. The owner knows the mission anyway.  It is too simple to need to write it down.

b.
The development of the mission statement would force Hazel to sit down and spend some time determining what business she is in or wants to be in and her business' reason for existence. This process should also help Hazel develop a clear statement of purpose which should serve as a guide in determining what she wants to accomplish in terms of goals and objectives for her business. From here, Hazel should find it easier to develop her strategy and plan how she is going to achieve her goals and objectives. This process will also assist her in gaining the proper focus for making decisions.

c.
Many people have the false impression that mission statements and goal setting are only for large organizations when the facts show that many small businesses fail because they really don't know what business they are in. Strategic planning on how you are going to accomplish your goals and objectives is just as important for the small business as it is for the large one and it is extremely important for the new small business which desperately needs direction and guidance in the beginning.
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